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1. Translate the following passages : A%A=T6
SO SR (FED] T A

[be SR St SEEv 9Tl s

(a) ‘fﬁjeant:rr AT HElSa 99§ Ty e@E | o AR GEe —
1 T, gE TSR guet uiom T S | TeE geied we ety |
I o9 AT |

Or / i3 / 519/}

AT Ul T WIS WS Semye: WRRET: | 99 SRl Ow
el I STel YR | W T WA= Wi |96 o ey ioeT usEs S |

(b) Toh=] URFTRETET TS TS TWTETEdr M sTawil Jid | o I i a9
T TERa: | 951 ISREE e S Scentaestaar: | Seenemty satat
== sfa

Or / =zt / S

1 A= 2191 Shreeend, Aiei-1a: IFearR: o 38T a4 ardl g o Ol T
e ST A SAece JEaasaEuGa gesE o 9g A |

(c) ¥ wH T HE-Tad fed W TEnRe, W veeEs gonEl SRy O
qIfeTdedl | T8 < Hemeacil Telgad [ganad foemeam Evgdr veneae
AEfaeR shifded |

WIS Yeed: HHTER widaame T R ey ST |

QTFEIFIF-T FHARATIA HAMIE AR = Icﬂrtldfii'jﬁl ag ‘efTEs-SuresHY
S -39 Y, Sfvaaay’ — : TN SolEHEl: |

(d) = TEEa: faermees afgsany Bgu aud geaa | qufy Taq Ffad 9q
mﬁ?mmﬁmﬁmwwa WWWH@HIW

Hiafy: SIEH-Jsa99dimId; TOusa=Gad siaerae 9a4: Haiad |
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AR 7 e FderEEed, S g fagmemfedst 48 wrm,
SRR | T T — ey e O e T e i | g i s
AZE R NI IR R RE T Tl F SufEg Hi |

2. Explain the following verses with reference to the context : 5x2=10
oS (A4ATE ©Fd (HITHL0E AR I 8
Heo% [Fvd HRPGTER A I S

T FHONSHE faenti
AT GEEEE | feEicE |

(b) v Tomarmmonfy i A e |
SEhRIaeRT FHareiaid a4 I
Or/ 712491 / 534!

TAfaargTe hewr fafsatsa: |
Yo T AN HAAERHEE:

3. Elucidate the idea of the following : 4x2=8

oHe MAERE ©E ?J?J?TE IGRIE
fefEReerEe o1 @R 9@t ¢

(@) I wEE I Ry ¥ TR

Or / 71291 / G194t
A e GRS |
(i:) H’:ﬂ'ﬁﬁﬁ TGRS | '
| Or / 331 / &2t
-G e
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Answer the following questions - 4x3=12
Oo9 FEERE T Tt g

Fitba existad Sed ol e

(@) ‘‘71 o3, TG Yafa aq Fdearaty”

Who said this? To whom was it sald ? What was the reason of
saying so ?

AR FARMA (FE @A GrE wie == 2 oW (R DEeE] B
'ﬂ[]?ﬁ- 4

R T = FEE . qiE e 39 s FENR =R TR S

(b) From which drama the lesson "‘;TIQ@%?@ g4’ is adopted ? Give an
introduction of the dramatist. '

W g

A AT (w2 AT o) e T Targs REFasEr s WO
Ao Wl | -

UITERE] GO AN ARB e Wit i YR ? ABRIER G =57
e |

(c)

Answer the following questions in Sanskrit :
OUE AR O] WEww fepddt ¢

b3 eHiatR Tea AcEere a2

() FAENIEH TETHE] 7 FY IqeTy ?
(&) FHE JeThied i gl g ?
(1) EgEeRsT &: T et Jaem 2

() ToshHIenii=y, eh =1 wu Syenes ?

Answer the following questions :
964 2=t Bay e ¢
Fpe eiarElg Tag we s

2. (a)

()  Fill in the blanks :
AT DB, 270 w41 ¢
PRI RR G

-

TS STed Tyl |
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(i) ‘T CHEEREEAT: FAE: —
Who is the speaker of this line ? Whom did the speaker say
this ? 2

9% I aT &2 ISE FE G2 U @iEE e
«Z T T (T2 ¥ I 93 I eilegea 2

(i) Give Sanskrit equivalents of the following : fany two) = 2
e qhr e dfeam e e
Fee @ e wlog wEe Afesw @Al
'IF'E{T{; ‘iﬂ?ﬁ; Ei-ﬁ'ET:; ﬂ{fﬂ:l

(tv) Write the names of any fwo famous writers mentioned in the
lesson "WHI FLURGT | 2
W HOIRGT T #i126% Sz o AraiEr 7o e ke e S
&4 |

HE YA A A SR @ @ e RS @ i S
@l |

(v) Write the names of two VHEE-AEF s written by Srimanta
Sankaradeva. 2

ST R Ao TR 59T ST ew T = B
& 0T A5 77 ST R A R |

) () “The TIERE is also called Wﬂﬁ?ﬂ"ﬁ”. 1
Write “Yes” or “No” |
& @ T
G G A R

(i) To which scction of the ‘fedmzy’ does the lesson ‘‘Tygegy
FU1"" belong ? | 1
"TRFER w1 AR A ey (T 499 Ty
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(i) How many chapt;:rs are there in the ‘'’ ? L
YIS (DT T SR’
151 e B PR (1 R

(iv) With whom ‘¥%d’ went to forest in search of Tq? 1
'Y W Clee A [sifR e i e
'Y T A A PRI O PR 2

(v) RS g
— who is referred to.as 'Y’ here ? 1
e a3 T qrErE txeee
e 'UIg AE IS @R TR

(vi) “The lesson "FFYHUMS-FARE' is taken from the 'F998’ of T RE. "
Say ‘Yes’ or No’. 1
A (7 RN
BN wyek A

(vii) What is superiﬂ.r to wealth ? , 1
et TN T
AW (AT (XI5 F 2

(viii) Who is the friend in abroad ? | 1
Fmere g @F e
R 9 2

(ix) Who is the author of the lesson VU HRIgEY: gig-agiehieg: ' ? 1
U HEIgeY: Fihed: ! Wivg #i1fta o1eE @ 2
CHEIgEY: AH=uiEicd: ' AlNE AT (FAE GI-S?
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*6. (a) Account for the case-ending in any two of the following :
2x2=4

oo [ (@il woiq dee-Aefe fda = 3
AT (@ e T FRE-Refe W4T Sl ¢

YUidT in Q. No. 1 (a) or
- [1 R (@) HIF A |
[1 72 (@) SI%<T 20 |

921 in Q. No. 1 (b)
(1 72 (b) 2w ]
[1 =R (b) &r=1 ]

Fag in Q. No. 1 (d)
[1 92 (d) &5 |

[1 92 (d) &e ]

9 in Q. No. 1 (¢

[1 78 (c) =%IT |

[1 R {c) =te |

(b) Denive any two of the following : | IxD=4
o [§ (Fa ghrT eoite e 391 s
Mg @ e v esite Faa s e

HENH in Q. No. 1 (a)
[1 =R (aq) &= ]
[1 TR (a) =rs |

AFA in Q. No. 1 (¢) or
[1 =R (c} G247 U%S |
[1 R (c) ST AT |
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FHq in Q. No. 2 {a)

[2 T (a) &% ]

[2 1R (@) 4% ]

T=d in Q. No. 2 (b)
[2 TR (b) 259 |

[2 =2 (b) 2T ]

7. (a) Deccline any two of the [ollowing : 1%ex2=3
©F4 7 e gord < 7 2
Fos (7 (I ¥ 1o <ewmel (AR s
T in 9= plural
(T I=95+9)

(T8 I=2507)

TSl in fgdi=r Dual

Y in @Al singular
(AGTE GT570)

(AT GFIB7)

T in =gl Dual

(b

(

!

AS

% Tad5-T<)

K
&

@950)
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(b) Conjugatc any two of the following : 1%x2=3
w4 @ @ gora aiga @ e
Tupe (7 (i §iod @A Al S

Jarg in @2 T
(=5 faefea ™)

(ﬁﬂT{ refed @)

Vfeg in @ig &
(D fefed @)

NTg in TEMdieE T

(RiREe Weies a9
(e Teied 9m)

(c) Name and expound any two of the following :‘ 2x2=
o 7 cr o e R e A s
ersa @ (e F15E RIS Fed R A= e w
EFEIEFL; TEER: ; Frameht ;  dar=T |

(d) Change the voice in any one of the following : 2
<=a [7 iz @B Ay 2R T
Ersa 1 (@i Gioe 6] AT T 2
(i) e S g |
(ii) TR T2 e |
(iii) o T8 TSI |
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3.

(e) Decfine and illustrate '3TUEH &R . 2+1=3
'IIRA RS T AE W% CviEad mEl |
'ITIEH FRE 99 G 9 TRiZae vie |

Or/ 7z / Fqgq!

Give examples in suitable sentences of any two of the following :
1%x2=3

SIS AW e Rl §hra Tz i 2
CoRE A e @ @ x5 S we
(i) WE g |

(ii) TATETETL: |

(it) U= Ee=ETR |

(iv) UL =R

(f) Give the resultant forms of any two of the following : 1x2=2
O e whrT ool e el
W5 a1 corea 7 pq fovim @t e 8

(i) a1+ T+ &= fa)
(i) N+ e + @ fa
(iii) NF +81 + @2
(iv) N +¥1+ @2

Translate into Sanskrit any four of the following sentences -
22x4=10

o FITIC) BB A wsgete SR 994 2
NOST (7 Iz 5115 AT FRGTS S T 2

(@) Character is the greatest wealth of a man.
bR THZA WBREE X 7o |
ia AR Hom |
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(b) Idleness is a grecat enemy of man.
GFIRE TR AL =

155 LA AL I |

(c) There 1s no wealth like learning.
mTiE A= & w2

(d) Flowers are blooming in the garden.

g TEEIE T SiE|

CvIill TRelal PLo S

(e} What is your name ? What class do you read in?
o[ 71 7 9 (i @Tre #(61 2
(STETE 9 B2 OfF @F (HF0S S4E 1 ?

(f) We should not cut down trees.

5 5% F6f Bb® 7=F |
SEHA S 61 BbW 74 |
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